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GERMAN MOBILE DEFENSE WITH ARTILLERY SUPPORT (12/7/42).
A reinforced infantry regiment of the German 2nd Army, supported
by artillery, defends the northern flank against elements of the
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Russian 5th Tank Army near Orel.

* RUSSIAN FORCES

Elements of 11th Tank Corps, enter anywhere on the north edge of
board 1 on Turn 1.
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Elements of the 45th Division, set up anywhere on boards 2 and/or 3.
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VICTORY CONDITIONS:

The Russian player wins a Decisive Victory if, by the end of play, he has estab-
lished a north-south corridor (from edge to edge) at least four hexes wide and
free of all German units. Any other result is a Garman victory.
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VICTORY CONDITIONS:

Marginal = destroy 7 Russian combat (i.e., not truck or wagon) units.
Tactical =destroy 15 Russian combat units.
Decisive = destroy 25 Russian combat units.

1942
Situation”

the 1st Guards Army.

ARMOR VERSUS ARMOR NORTH OF STALINGRAD (20/9/42). Units E-'Z>
of the 14th Panzer Corps defend against an attack by elements of 2 1
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* RUSSIAN FORCES

Elements of 39th Guards Division, enter anywhere on the north edge
of board 3 on Turn 1.
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VICTORY CONDITIONS:
Marginal = destroy 25 German units.

Tactical =dastroy 35 German units.
Decisive = destroy 45 German units.
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Elements of the 9th Panzer Division, set up anywhere on boards 1
andfor 2.
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VICTORY CONDITIONS:

Marginal =5 German units lost.
Tactical =19 German units lost.
Decisive =24 German units lost.

Russian
moves first
TURN
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